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#include<stdio. h>
int main(void)

{
int x;

double vy;

printf ("EHAEATI LTV, )
scanf ("%d”, &x); // & AL/

printf ("SEHNOEE TRVMEEZ AT LTI ZE, 1 7);
scanf ("%1f7, &y); //%1f

printf ("x—%d  y—=%f¥n",x,v); // ¥n ZOIFTEL X 9,

return (0);
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if (a<b && b<c) 3L;
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#include<stdio. h>
int main(void)
{

int a;

printf "IEOFEKEATTLTLLZEI W 7)),
scanf ("%d”, &a) ;

if(a%2) printf("Z DI T, ") //a%2—a % 2 TEI- -4

else printf ("% OEHITHEETT, ¥n");

return (0);
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#tinclude<stdio. h>

int main(void)

{
int a, b;
printf CENTEDLED L 2010RD oD E, TNTHANLTLES
W, ¥n");
printf (¥ 1 )
scanf ("%d”, &a) ;
printf (¥ 2 1 7);
scanf ("%d”, &b) ;
if (a%b==20) // = TIiEARWN
{
printf "2~ LE Lz, ¥n') 5 //ZOEEITVNER NN,
} SISOl ED b =13} BB,
else printf "%~ LEHATLZ, ¥);
return (777); //FEZOOFHIHITTHL LW (THLO0IZTHZ L)
}
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